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GROUP I MAIN – 2023 
 

PERCENTAGE WORK SHEET 
 

• Percent means per hundred or out of a hundred. It is denoted by %. x % denotes the 

fraction 
100

x
 

rjtPjk; vd;gJ xU E}w;Wf;F my;yJ xU E}wpy; vt;tsT vdf; Fwpg;gjhFk;.  mjid 

% vdf;FwpaPL nfhz;L Fwpg;gplg;gLfpd;wJ. x %> 
100

x
vDk; gpd;dj;ij Fwpf;Fk;.  

 

• A percent can be expressed as a ratio with its second term 100 and the first term equal to 
the given percent.  
xU rjtPjj;ij> nfhLf;fg;gl;l rjtPjj;jpw;F rkkhd> ,uz;lhtJ vz; 100 f;Fk; Kjy; 
vz;zpw;Fk; cs;s tpfpjkhf Fwpf;fyhk;. 
 

• To convert a given ratio a percent, we first convert the given ratio into the fraction and 
then multiply the fraction obtained by 100.  
nfhLf;fg;gl;l tpfpjj;ij rjtPjkhf khw;w Kjypy; nfhLf;fg;gl;l tpfpjj;ij gpd;dkhf 
ehk; khw;wp fpilj;j mg;gpd;dj;ij 100 cld; ngUf;fNtz;Lk;. 

 
Examples: 

1. 
35

35%
100

=      2. 
12

12%
100

=  

3. 
4 4

100% 80%
5 5
=  =     4. 

8
8%

100
=  

2

25

2 : 25

=

=

 

5. 
6

6 :5
5

=    
6

100%
5

120%

= 

=

    6. 
7.4

7.4%
100

=  

          = 0.074 Decimal form (jrk tbtk;) 
 

7. 
12.2

0.122
100

=   = 12.2% 

Percentage of a Number: x% of y =
100

x
y  

xU vz;zpd; rjtPjk; y y; x%=
100

x
y  
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1. Find 12% of Rs. 1200 

&. 1200 d; 12% fhz;f:  
 

2. If 23% of x is 45, then find x 
x-d; 23% 45 vdpy; x fhz;f 
 

3. 72% of 25 students are good at mathematics. How many are not good at it? 
25 khzth;fspy;; 72% fzf;fpy; jpwd; ngw;wth;fs;> vj;jid khzth;fs; mjpy; jpwd; 
,y;yhjthfs;. 
 

4. A cricket team won 10 games from the total they played. This was 40% of the total. How 
many games were played in all? 
xU kl;ilg;ge;J mzp tpisahba nkhj;j Nghl;bfspy; 10 Nghl;bapy; ntw;wp ngw;wdh;. 
,J nkhj;jj;jpy; 40 % nkhj;jk; tpisahba Nghl;bfspd; vz;zpf;if fhz;f?  
 

5. If Kumar had Rs. 600 left after spending 75% of his money, how many did he have in the 
beginning? 
Fkhh; jd;dplk; ,Ue;j gzj;jpy; 75% nrytpl;lgpd; &.600 nfhz;L cs;shh; vdpy; 
Muk;gj;jpy; mthplk; vt;tsT ,Ue;jJ. 
 

6. A nursery has 5000 plants. 5% of the plants are roses and 1% are mango plants. What is 
the total number of other plants? 
xU kug;gz;izapy; 5000 nrbfs; cs;sd. nrbfspy; 5% Nuh[hf;fshfTk; kw;Wk; 1% 
khnrbfshfTk; cs;sd.  ,ju nrbfspd; nkhj;j vz;zpf;if vt;tsT? 
 

7. Vijay gets 98 marks in his exams. This amounts to 56% of the total marks. What are the 
maximum marks? 
tp[a; jdJ Njh;tpy; 98 kjpg;ngz; ngw;Ws;shd;. ,J nkhj;j kjpg;ngz;fspy; 56% 
mjpfgl;r kjpg;ngz;fs; fhz;f: 
 

8. A certain company has 80 employees who are engineers. In this company engineers 
constitute 40 % of its work force. How many people are employed in the company? 
xU Fwpg;gpl;l epWtdj;jpy; 80 egh;fs; nghwpahsh;fs;. ,e;j epWtdj;jpy; nkhj;j 
Ntiyahl;fspy; 40% nghwpahsh;fs;> epWtdj;jpy; nkhj;jk; vj;jid Ntiyahl;fs; 
cs;sdh;? 
 

9. Aruna spends 30% of her salary on food and donates 3% of her salary in a temple. In a 
particular month, he spends Rs. 231 on these two items. What is her total salary for this 
month? 
mUzh jdJ Cjpaj;jpy; 30% cztpw;F nrytpLfpd;whs; kw;Wk; 3% NfhtpYf;F 
ed;nfhilahf jUfpd;whs;. xU Fwpg;gpl;l khjj;jpy; mts; ,t;tpuz;bw;Fk; &.231 
nrytpLfpd;whs;.  mk;khjj;jpy; mts; ngw;w nkhj;j Cjpak; vt;tsT?  
 

10. Out of his total income Kannan spends 20% on house rent and 70% of the rest on house 
hold expenditure. If he saves Rs. 1800, what is the total income? 
fz;zd; mthpd; nkhj;j tUkhdj;jpy; 20 % tPl;L thliff;Fk; kw;Wk; kPjj;jpy; 70% 
tPl;Lr; nrytpw;Fk; nrytpLfpd;whh;. mth; Nrkpg;G &.1800 vdpy; mthpd; nkhj;j tUkhdk; 
vd;d?  
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11. Anu has to pay 4% sales tax in addition to the price of a certain article. Find the price of 
the article, if she pays Rs. 2.60 in all. 
mZ xU nghUspd; tpiyAld; mjw;fhd 4% tpw;gid thpiaAk; Nrh;j;J nrYj;Jfpd;whh;. 
mth; nrYj;jpaJ nkhj;jk; &. 2.60 vdpy; nghUspd; tpiyiaf; fhz;f: 
 

12.  A man loses 20% his money. After spending 25% of the remainder, he has Ra. 480.00 left. 
How much money did he originally have? 
xU kdpjd; jdJ gzj;jpy; 20 % ,of;fpd;whh;.  kPjKs;sjpy; 25% nrytpl;lg;gpd; 
mthplk; &.480 kPjk; cs;sJ. Kjypy; mthplk; vt;tsT gzk; ,Ue;jJ.  
 

13. An alloy contains 36% zinc, 40% copper and rest is nickel. Find in grams the quality of 
each of the content in a sample of 1 kg alloy?  
xU cNyhf fyitapy; 36% Jj;jehfk;> 40 % nrk;G kw;Wk; kPjk; epf;fy;. 1 fpNyh 
fyitapy; xt;nthU cs;slf;fg;nghUspd; msit fpuhkpy; Fwpf;f 
 

14. Rani’s weight is 25% of that of Meena’s and 40% that of Jaya’s. what percentage of jaya’s 
weight is Meena’s weight? 
uhzpapd; vil kPdhtpd; vilapy; 25% kw;Wk; n[ahtpd; vilapy; 40% kPdh n[ahtpd; 
vilapy; vj;jid rjtPjk;? 
 

15. Rishi requires 40% to pass. If he gets 185 marks, falls short by 15 marks, what were the 
maximum marks he could have get? 
Hp~p Njh;r;rp ngw 40% ngw Ntz;Lk;.mtd; 185 kjpg;ngz; ngw;W 15 kjpg;ngz;fs; 
tpj;jpahrj;jpy; Njhy;tpAw;whd;. mtd; ngwf;$ba mjpfgl;r kjpg;ngz; vt;tsT? 
 

16. The value of a machine depreciates every year by 10%. What will be its value after 2 years 
if its present value is Rs. 50,000 
xU ,ae;jpuj;jpd; kjpg;G Mz;LNjhWk; 10% Nja;khdk; milfpd;wJ. mjd; jw;Nghija 
kjpg;G &.50>000> 2 tUlk; gpd;G mjd; kjpg;G vd;d? 

 If x% of A is equal to y% of B, then z% of A = %
yz

A
x

 
=  
 

 of B. 

A-d; X% Kk; B-d; Y% Kk; rkk; vdpy; A-d; Z% = A, B-d; %
yz

x

 
 
 

 

 When a number x is increased or decreased of y% then the new number is 
100

100

y
x


  

X vDk; xU vz; y% cau;j;jNth Fiwf;fNth gl;lhy; Gjpa vz; 
100

100

y
x


  

 If x is a% more/less than y, then y is 100 %
100

a

a

 
 

 
 less/more than x. 

x, y – ia tpl a% mjpfk;/FiwT vdpy; y> x-ia tpl 100 %
100

a

a

 
 

 
 

FiwT/mjpfk;  
 

17. If 10% of a is equal to 12% of B, then 15% of A is equal to what percent of B? 
a-d; 10%> B-d; 12%-f;F rkk; vdpy;> A-d; 15% B-d; vj;jid rjtpjj;jpw;F rkk;?  
 

18. The monthly income of a person is 8000 Rs.  If his income is increased by 20 %, then what 
will be his new monthly income? 
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xUtupd; khj tUkhdk; &. 8000. mtupd; tUkhdk; 20% cau;j;jg;gl;lhy; mtupd; Gjpa 
tUkhdk; vd;d? 
 

19. If income of Ravi is 20 % more than that of Ram, then income of Ram is how much 
percent less than that of Ravi? 
utpapd; tUkhdk; uhkpd; tUkhdj;ij tpl  20% mjpfk;> vdpy; uhkpd; tUkhdk; utpapd; 
tUkhdj;ijtpl vj;jid rjtPjk; FiwT? 
 

If the price is first increased by x% and later on it is decreased by x % then Net % 

Loss = 
𝑥2

100
 

tpiy Kjypy; x% cau;j;jg;gLfpd;wJ gpd;G x% Fiwf;fg;gLfpd;wJ vdpy; epfu 

rjtPj el;lk; 
2

100

x
=  

 

20. The shopkeeper raises the price of a shirt by 20 %.  Lela on during sale she gives the 
customer a discount of 20%.  Find the net % decrease in price.  If the original price of the 
shirt was Rs.200, how much does the customer have to pay? 
xU filf;fhuh; xU rl;ilapd; tpiyia 20%  mjpfupf;fpd;whu;. yPyh xU tpw;gidapd; 
NghJ thbf;ifahsUf;F 20% js;Sgb mspf;fpd;whs;. nghUspd; tpiyapd; epfu 
Fiwtpd; % fhz;f. mr;rl;ilapd; cz;ikahd tpiy &.200> vdpy; thbf;ifahsu; 
nrYj;j Ntz;b njhifiaf; fhz;f. 
 

21. 60% of 175 is what % of 525? 
175 -d; 60%> 525-d; vj;jid % rkk;? 
 

If the price is first decreased by x% and later on it is increased by x % then Net % Loss 

= 
𝑥2

100
 

tpiy Kjypy;  x% Fiwf;fg;gLfpd;wJ  gpd;G x% cau;j;jg;gLfpd;wJ vdpy; epfu 

rjtpj el;lk; 
2

100

x
=  

 

22. Ram’s contributions to charity, religions donations and community welfare fund are in 
the ratio of 15:25:35 respectively.  Express the contributions in percentage terms. 
uhkpd;> njhz;L> khjez;nfhilfs; kw;Wk; r%f eyNkk;ghL epjpf;fhd gq;fspg;Gfspd; 
tpfpjk; KiwNa 15:25:35 gq;fspg;Gfis rjtPjq;fspy; Fwpf;f. 
 

23. 35% of 160 + 60 % of 80 is what % of 312? 
160-d; 35% + 80-d; 60%> 312-d; vj;jid % rkk;? 

24. Shopkeeper announces successive discounts of 10% and 20% find the equivalent percent 
discount. 
xU filf;fhuu; 10% kw;Wk; 20% vDk; njhlu; js;Sgbfis mwptpf;fpd;whu;. ,tw;wpw;f;F 
rkkhd epfu js;Sgb rjtpjk; fhz;f 
 

25. The price of sugar is decreased by 30 % and its consumption increases by 20 %. Find the 
new expenditure as a ratio of initial expenditure and the net percentage change in 
expenditure. 
rf;fiuapd; tpiy 30% Fiwfpd;wJ kw;Wk; cl;nfhs;Sjy; 20% cau;fpd;wJ. Gjpa 
nrytpw;Fk; Kd;dpUe;j nrytpw;f;Fk; cs;s tpfpjj;ijAk;; nrytpd; epfu rjtPj 
khw;wj;ijAk; fhz;f. 
 


